Consequences of Reaction Time
Procedure: Determine your reaction time in the yardstick drop exercise.  The determine what the following pieces of equipment can do in that same length of time.   For example, if a student=s reaction time is .3 seconds, a rock could be thrown from a lawn mower 75 feet or an arm could be wrapped 5 times around a PTO shaft at 1000 RPM before the student could react to an emergency situation.

	Reaction Time in Seconds
	PTO @ 540 RPM (rotations)
	Corn Snapper Rolls
	Tractor @ 20 MPH 

(Dist. in Ft.)
	PTO @ 1000 RPM (rotations)
	Object Thrown by Lawn Mower 

(dist. in ft.)

	.1


	.9
	1.2
	2.93
	1.67
	25

	.2


	1.8
	2.4
	5.86
	3.34
	50

	.3


	2.7
	3.6
	8.79
	5
	75

	.4


	3.6
	4.8
	11.72
	6.68
	100

	.5


	4.5
	6
	14.66
	8.35
	125
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